normalized X2

0.95,

Entries
Mean

17851
1.076

Std Dev. 0.8576

0 2 4 6 8 10 12 14

16 18 20
X2

[ normalized x? probability |

Ratio

Mean
Std Dev

Entries
t | Mean
_ Lstd Dev

e HHHE\HHWHHH
5”\HU-!“' I
il HnHuHMH ||||H|s||HH
.6 0.7 0.8 1

FIT_TT retrain

i DQM_MKFIT_

e DOM_mkFit_TT_NEWdefault_specPLess1
— DOQM_mKkFit_TT_NEWdefault_specPLess2
s DQM_mKFit_TT_NEWdefault_specPLess3
s DQM_mkFit_TT_NEWdefault_specPLess4

< x2/ndf >

k)
S

o4

AN S[

".5 -

{=4 r -

N 2.5
3 29

v I

1.0

Ratio
T
——
== :
= :

107 1 10 102 pw3

< X2/ ndf >

Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


